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And what 13»; a 2% of two RN — PPWAIT SIWT 1A 13 INMY

OVERVIEW

X127 ruled that based on the X720 of 12, we can say that if a iP5 and a wIn
picked up a nX°xn, the W is 7P (but not the o). The XA explained the
131; since two PwIn that picked up a aX°X¥n acquire it, therefore the wan that
picked up together with a npd also acquires it. Mmoo challenges this
assumption.

MooIN asks:
— 119597 RY 131 299 NIYT 193 110N

It is astounding! How do we know that the w21 will be 7117?! Perhaps we

do not use the concept of 1a% twice -
2199205 53 598 7IWAIY 5917 1N YO 1391 1371 PYAN 12T

For the reason two Pwan are 7112 is because 57372r® 121 97 7PRDIS 9217 1.
mooin offers no answer.’

SUMMARY
The w11 should not be 7112 for it requires 12 twice.

THINKING IT OVER

What does n90I1n mean that two PwAn are 723 because of 121 7°wo17 317 1.
Seemingly a w1 cannot be 7°72r% 37 for he is a wAr; in fact he cannot even
be wo1? 101, he is W12 107 only because of a odn nipn, that there
should be no fights. Perhaps this 11"pn enables both 2°wan to be 71 when
they picked it up together. Why does mooin assume that wan 2 are 1P
w2 ayun?!?

' We can use the concept of 1n once; if one is AP for himself then he can be 1P for someone else.
However, if the basis of the 1°» is dependent on another 13 (as in the case of two 2w, see following
footnote # 2), then it cannot be effective.

? Two °wan cannot be 71 since they are not capable of being 73pn to anyone (for they are o*warm). They
are 11y together only because °ws17 *517 W» (because of a o»on nipn), therefore they can be 7°12n% 0.
Based on this ruling (which is based on 131) we cannot derive another ruling (based on a second 12); that
since two o°'wn are a1 then by a wam npd, the won should be 713p. We do not use a 1 twice. See
‘Thinking it over’. [The w1n cannot be 7177 based on the nps since the nps is °wo17 *31 XY for he is not 11p.]
? For answers see My’ 01 ,1"'mn, etc.

* See 197 MX *"92 and 7"nKR # 67-70.
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